(3 x 10~ 350)

Time: 3 Hours ' Maximum marks : 30

I1.

{All questions carry EQUAL marks)

Why are accounting concepts and conventions required? How do you distinguish belween accounting
concepts and conventions?

OR
" Is agreement of Trial Balance is a conclusive proof of the accuracy of a4 book keeper? if not, what
are the errors, which remain undetected by a Trial Balance?

Explain the necd and importance of Accounting Standards.  What are the arsuments against
Accounting Standards?

OR
What is sub-division of journal? Explain the uses of different subsidiary books.

From the followmg particulars which relate to a musical society, prepare 2n Income and Expenditure
Account and Balance Shect as at 31 March 2004,

Balance Sheet as on 31% March 2003

Outstanding Rent 425 Cash at Bank 3000
Capital Fund [5575 Govt.Securities 10000
Accrued Interest 125
Qutstanding subscription 400
Library Books 1000
Furniture and Fittings 1475

16000 16000

The transactions for the vear were:

Regeipts: Subscription - Rs.2500/-, Proceeds received from entertainment and lecture — Rs. 1000/-,
interest on securities — Rs.475/-, Entrance fee received — Rs.500/-, Sale proceeds of seven old
chairs -Rs.75/- (Book Value - Rs. 100/ )

Payments: Rent — Rs.600/-, prinling — Rs. 150/~ , Advertising - Rs.200/-, Sundrics - Rs.55. Govi.
Sceurities - Rs.2500/-, Furniture — Rs.400/-, Library books — Rs.300/-, Cost of entertainment —
Rs 750H-,
The following were outstanding as on 31% March 2004:
Printing  Rs.75/-, Rent - Rs.100/-, Interest on Sccurities — Rs. 1 50/- and Subscription - Rs.325/-,
oR
Distinguish between a Receipts and Payment Account and tncome and Lixpenditure Accoint. 1low
will you convert a Receipt and Payment Account into an income and Expenditure Account?

The trading profit of A, B and C for the year ended 31.12.2002 was Rs.30000/- and the suine was
distributed amongst the partners A,B and C in their agreed ratio of 3:1:1 respectively. 1t was
subsequently discovered that the under mentioned transactions were not passed through the Account;

{a) Interest on capital @ 5%

{b} Interest on Drawings amount to : A - Rs.350/-, B —Rs.250/- and € Rs, 150/-

{c) Partners salary to A — Rs.5000/- and C — Rs.750/-

{d) An agreed commission ot Rs.3000/- payable 1o A arising out of special ransaction of (he

firm.

(¢} Capital Accounts of pariners are: A - Rs.50000/-, B KRs.40,000/- and € - Rs.30.000/-
You are asked to pass necessary journal entries to rectify the position and show Partners Current
Account for incorporating to the final accounts of the firm.

OR
{Turn overj



